32 2005 10
12 13
410083 2. 518034 3.
518026
P642.22 B 1672 —7428 2005 10 -0032 -06
150° ~ 180°
/.65°
T,b’
3
2
1
1 400 m
450 m 50.1 m 0.16
3 km?’ 630 m’
2076 m’ 790 0.3~5.8m
.
=500 m ' 2 2
1.4 w?
2500 14.0 m 160 m
23°
0.3~6.4m
2005 -04 -29

1971 -

7047

14 0755 82891548 -819 xusll@ 163. com
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I R —
Y N
X

E=da66], 439
N=34064. 270

14 5m AL AL

sttt i
2, m= A, B
1
4
4.1 -
1
¢ =22 ~40 kPa ¢ =5.5° ~ 16° .
¢=13 ~52 kPa ¢ =7° ~16° _
c/kPa ¢/ ° c/kPa ¢/ °
Lo L15 10 18.4 10 18.3
h L15 15 23.3 15 23.3
Lo L15 15 17.1 15 17.0
B .15 15 23.2 15  23.4
>
1.15~1.20"
¢ 0.80 ~
K=1.15 ¢ . 0.85 ¢ 0.70
10 15 kPa v =20.42 kN/m )

I-1 Io-1 2
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P T Ly,
FT%, - Pl
300 "",7;4? f‘é‘& 11
";ﬁf{ﬁ%‘,& ] H i 4 W vyl Y b+ B wedi
s S A wwmiks EERKY B W i
250
WEME  w
A E T A
200
{"f—.l'hm )K{ |5 S A R
_,,-».;,, /
i - . ﬂﬁg&: 4{31 Ibs; (45
150 / Wyl "0 8(_1 KA L45m
7% 40m / 7, I/yﬁ# T ,;‘%),‘ _Aé-{a_fﬁ'"
PN ST T = b 15
Zx‘;xj‘mmr i %{“zzﬁi e // z‘/ ﬂ””pﬂw /
100 7 7% T,
2 -1
2 kN/m N—— i
c/kPa @/ ° kN/m 7,—— L
10.0 18.4 kN/m c. i
Lo 7.0 13.8 ' 3
- 15.0 23.3 kPa ¢ L
10.5 18.6 L— 1 m Y—— i
15.0 17.1 i+1 j=i
_ 10.5 14.5
- 15.0 23.2
10.5 18.6 E. =K, Wsing, +T, - W.osh, - Ny, -R,,
tang, —¢,L, + V.E, _,
4.2 E— i kN/m
4.2.1 E_,— i-1 kN/m K —
* * W— i KN/m’
175 m 175 m Ny— i KN/m Tp—— i
kN/m R,—— i
kN/m ¥,——
* +175 m 145 m V.=cos 0,_, -0, —sin 6, , —6, tang,
4.2.2
0. W.sing, W.siné,
W.sing,
v =20.42 kN/m’ y_, =20.74 kN/m’ y =10.70 kN/
m’ K,
K =115 3
2
. + +175 m
K, = ZRHW +R, /ZTHW +T, I -1 K, =0.98
R, = Ntang; +c¢,L; on-1 K =1.02
V. =cos 0,-0,,, -sin 0,-6,,, tang,,, + +175 m
K, 06— i I -1 K, =0.899

° R—— i on-1 K =1.021

i
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K, E/ kN- m~!
- 175 m
Lo + +175 m 0. 980 0. 983 426
B + +175 ~145 m 0. 899 0. 901 5013 3441
Lo + +175m 1.018 1.020 1815
B + +175 ~145 m 1.021 1.022 4135 4046
4.3 Hyse
il
o] 5
1| &1
4.3.1
1 E
175 - z
" B s g
HIBHEL. 4mX 3. 6m
3 1-1
0.8 m C25
2 175 m ]] - ]] E =
2000 kN/m 7 7015.2
40 m 1050 kN
I -1
2 m
3 175 ~145 m
4.3.2.2
I -1
1 3
175 ~145 m
P, =E/ sin a+B tang +cos o +pf
E—— 1250 x4/6 =833 kN o—
18.6° a——
21° g— 25°
1 P, =890 kN
4.3.2 1860 MPa ?15.2
4.3.2.1
11 177 m n=F,P/P,=1.7x890/259 =5.8 n =
6
F,— 1.7~2.0 P,—
E =1250 kN/m 4.0 1860 MPa  @15.2 259
m 6 6015.2 kN
2.5m 3 P,<0.6P, P,<0.6 x259 x6
45 m 890 kN =932 kN P, =890<P,

0.6 m x
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I, 1 M. =351 kN- m 3.3 mm
l,= F_P, / nmudr, 8028 8020 ?14@ 180 mm
l,= F,P / mdr7
F,— 4.3.3
F. =25 d—o 0.0152 m d,——  4.3.3.1
0.15m 7, 177 m
10%
M30 3000 kPa 7
510 kPa 1 I-1
[,=2.6m [,=9.3m
I, 1 [,=10 m 2191 kN T -1
2 30 m 6.0 m
8.0 m 2.4mx3.6m 4
6 45 m  7015.2
4 5 6
. 2 n-1
*-_;i j E=2046 kN/m 1 - 1I
g 25 m 6.0 m
¥ 6.0 m 2.0 mx3.0m
2‘00 .2 &i 6I é 1|0 1.2 1I4 1lﬁ 1I8 26 2:2 40 m I -1
S R O/ m
4 1-1 3
500
00 [ 4
300 F C25
e 4.3.3.2
R T R (O AN NUC T I S R T £ I -1
B -0 1 4
oo |
ao0 | I= 1/12 ba’ = 1/12 x2.4x
-4 b 3.6°=9.33 m*
500 S B 3 R O B /m W= 1/6 ba> = 1/6 x2.4 x
5 1-1 3.6°=5.18 m’
200 B,=b+1=3.4m
E =2.8 x10* MPa
K 2x10° kN/m’
= B= KB, / 4EI = 2
z x10° x3.4 / 4 x2.8 x10" x10° x9.33 * =
;&; 0.16 m™'
h,=8m  Bh, =0.16 x8 =
1.28>1.0
~400 - B M T 2
6 1-1

QH\;[X :480 kN
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7 8 9
FAE /mm
=120 -100 -80 -60 -40 20 @ 20 40
2003 1
149 m
4 cm
;
B /KN : 6
-12000 -9000 -6000 -3000 0 3000 6000
ni
e B
5 I
= -1z f
g | 2
H -8
B
_20_
_24 L
=28
- 3
8 I-1
A/ (kN-m)
=60000 -42000  -30000 _15.000 0
4
5
967 mm 4.5 6
m Q.. =10760 kN
0.5m M, =55889 kN- m
A, = 7400 mm’ 128032 A, =
102892 mm’ ?14@ 150 mm
1 . M . 2001.
5 2 GB 50021 -2001 S .
3 TB 10025 -2001 S .
4 M .
2 1997.



